
Consolidation work 6 – Second Level *  

The number of marks for each question are indicated to help you know when to show 
your working. 1 mark is for correct answer, 1-2 marks for correct working. 

Questions in red: show working. Questions in blue: not yet been taught 

1. Write in words: 9876 ( 1 mark) 

 

2. Write in figures: seven thousand, four hundred and seventeen (1 mark) 

 

3. 2405 + 3783 (3 marks) 

 

 

4. 4500 – 1869 (3 marks) 

 

 

5. Fill in the missing number to make the sum correct (2 marks) 

         9876 = 9000 + _____ + _____ + 6 

 

6. Find 3/4 of 80 (3 marks) 

 

 

 

7. Colour in both shapes to show a 3/4 

 

 

8. I have £15. I buy 2 cakes, costing 89p each and a sandwich, costing £2.20. How much 
change would I get? (3 marks) 

 



 

9. Name the type of angle shown (1 mark) 

 

10. 21.4 + 13.9 (3 marks) 

 

 

11. How many sides does an octagon have? (1 mark) 

12. Write 0.5 as a fraction and a percentage (2 marks) 

 

13. Judith gets on the bus in Dalkeith at 3.40pm. The busy journey takes 40 minutes to 
travel to Princes Street. What time does she arrive at her destination? (1 mark) 

 

14. Sam tries to drink 2 litres of water every day. His water bottle can hold 500ml. How 
many of these bottles does he need to drink to reach his daily target? (2 marks) 

 

15. 0.7 x 10 = ____? (1 mark) 

 

16. 36 x 6 = _____? (2 marks) 

 

17. 56 ÷ 7= _____? (1 mark) 

 

18. Complete the sequence: 5.3, 5.5, 5.7, ___, 6.1, ___  (1 mark) 

 

19. How many centimetres are in 2 metres? (2 marks) 

 

20. Write 1930 hours in digital time, using the terms am/pm (1 mark) 

 



 


